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Question id : 5917 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A subway train starts from rest at a station and accelerates at a rate of 2ms~ for 10s. It then runs at a

. 3 -
constant speed for 30s and deaccelerates at 4ms™ until it stops at the next station. The distance
between the two stations 1s:

Options :

1. % 630m
2. % 700m
3. ¥ 750m
4. % 800m

Question id : 5917  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
TF I I R e ¥ v wud § gt § 3R 10s & 2ms? #r 7 § Al

Farch 81 59F a1g 96 3 30s o aRadeeie afd § gsdh § sk s see weuw
W T a6 dms? T T ¥ T A FH FAT 21 g TR H S A el T v

Options :

1. % 650m
2. % 700m
3. 750m

4. % 800m
sd

Question id : 5918 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Which of the following quantities is a vector?

Options :

1. ¥ Area

2. % Volume

3. % Angle

4. % Speed

Question id : 5918 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Trafefag & & oiF o amn afger §7

Options :
1. v &rawer
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2. % T
3. % aior
4. % Irfq
Question id : 5919  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If the universal gravitational constant were decreasing with tume. then satellite in orbit would still
mamtam its:

Options :

1. ® Orbital radius

2.+ Angular momentum
3. % Tangential speed

4. % Period of revolution

Question id : 5919  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
afe ardslfAs TEcarrdor FeRTs §AT & @1 9T @1 81 dl HET # 39UE Jd o AT S0 § FAT a0 [

Options :

1. * e B

2. Fofter waeT

3. % wde aifd
4. % ufyAT FHT Hafa

Question id : 5920  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The velocity with which a projectile must be fired so that it escapes earth’s gravitation does not
depend on:

Options :

1. # Mass of the earth
2.« Mass of the projectile.
3. ¥ Radius of the orbit.

4. % Gravitational constant.

Question id : 5920  Question Type : MCQ  (Correct + 1.0, Wrong -10:0)
g8 991 oI W U GaITy SISt S g g dif g gedl & Iedihiur ¥ JET foled oTe, oA & faw or R a9 6

Options :

1. % gl & gegdre

2. gadr & gegA|

3. % el 1 MHe)

4. % TEATHYOT R

Question id : 5921  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

The second law of thermodynamaics mntroduces the concept of:

Options :

1. ® Heat

2. % Temperature
3.+ Entropy

4. % Internal energy of the system

Question id : 5921  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FATTCRRT & ga T o s & fand 3/aumon &7 &e &

Options :

1. % Z&AT

2. % AM9AE

3. Terdr

4. % gorrelr 1 IaRE Fer

Question id : 5922 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The manifestation of band structure 1n solids 15 a consequence of
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Options :
1. % Heisenberg s uncertamty principle

2. Pauli’s exclusion principle
3. % Bohr's correspondence principle

4. % Ohm’s law

Question id : 5922  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
3 H I av=er & uede sad ¥ fhamr oo &
Options :

I. % prseielad &1 HieTeaaadr & &g

2. ¥ UrEel & UdeieT & Oad

3. % GIgY & SIEdiesy F g
4. % FHEA & F4H

Question id : 5923  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A disc shaped magnet levitate above a superconducting material that has been cooled by liquad
nitrogen. This happens because a superconductor 1s:

Options :

1. % Diamagnetic
2. % Nonmagnetic
3. % Paramagnetic

4. % Ferromagnetic

Question id : 5923  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
mﬁ@mﬁé@%@mmﬁmmﬁ?mw%ﬁﬁwwmﬁmm%l TE SHOIT BT & i ATaeres

Options :

1. ¢ yldgrahg &
2. % ITFadE B
3. % HIIFEaRT &
4. % oifggradm §

Question id : 5924  Question Type : MCQ. . (Correct + 1.0, Wrong - 0.0)
An ideal gas engine operates in a Carnot eycle. It absorbs heat at a temperature Ty and exhausts heat

at T5. The efficiency of this engine 1s:
Options :

1.¥ (T; —-T)T,

2. % (Ty+ T

3.8 (T1 —-T'T,

4. % Ty/Ty

Question id : 5924  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U 3TEE A Seie FEte Tw 7 IR GiaT §1 UF aTTHe Tq 9 FSAT & HaTSd Sl § 3T To IR FOAT @7 oShiad #ar §1 59 Sefel dT

Options :
1L (Ty - To)Ty

2. % (Tq + To)Ty

3.% (Tq - T2)Ty

4. % Tq/To

Question id : 5925  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Superposition of two waves trains of same amplitudes and nearly same frequencies. moving in the

same direction. results m the formation of beats. The maximum loudness heard at the waxing 15 n
tumes the loudness of each of the component wave tramns. The value of n 1s:

Options :
1. % 1
2. %2
3.4
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4. %8

Question id : 5925 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T §1 STH &7 3R oeEEr Us &7 3dfcd & Ue & feRm & =@ T &l aver-ATensi &

GuaiffereT &1 gROTA TS g §1 AT & §AT G S AfEsaA gaedn, gl
Heah OUETATAT T Waeldl & n 9 &1 N @ Alel Sa8 T 547 &

Options :
1% 1
2. % 2
3.¢ 4
4. % 8

Question id : 5926  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
An earthquake generates both transverse (5) and longitudinal (P) waves in earth. The speed of §

waves is about 4.5kms™! and that of P wave 8.0kmsL. A seismograph records P and S waves from an
earthquake. The first P wave arrives 4.0 min before the first S wave. The epicenter is located at a
distance of about:

Options :

1. % 25km

2. % 250 km
3. ¥ 2500 km
4. % 25000 km

Question id : 5926  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
wh HgET gt & e (S) AR S (P) oA el 3cdeet HAar 81 S Al &

atfer waremar 4.5kms” 3R P A & afa 8.0 kmsTl §1 TR sEhUedl sy & PR
S TG T gt aam &1 9gell P a9, ggell S TR & e & 4.0 Few gpel g ol
sehT-the, ST fohciell GO TX B

Options :

1. % 25km

2. % 250km

3.+ 2500km

4. % 25000km

Question id : 5927 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
Quantization of electric charge 1s demonstrated by:

Options :

1. % Millikan’s o1l drop experiment

2. % Thompson's experiment

3. #% Rutherford's u-ray scattering experiment

4. % Stern- Gerlach experiment

Question id : 5927 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
fagga sder &1 IRonHART (Quantization) fawe @R EMEGEE T I I

Options :

1. v Tafewa &1 aa &1 dg &y
2. % offFgEe @ W

3. % [EIWIE @ oy Theflar &1 9T
4. ¥ TEel- IRCG & WEET

Question id : 5928 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Ampere’ circuital law can be expressed as:

Options :

1. VXB=pu]
2.% VXB=0
3. % gradB=0
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4. % DivB=0

Question id : 5928 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TFIRR & Feee oA GTeafrad # ¥ ®9 # cdad & o Sl &

Options :
1.¥ VXB=p]

2.% VXB=0
3.% grad B =10
4. % DivB =0

Question id : 5929  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
According to Gauss’s law. the electric field due to an mfinitely long thin charged wire varies as:

Options :

1.v Ur
2% 12
3.8

4.% 2

Question id : 5929  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
M & A F 3R, v 3uRfAT 9 @ o9 ode 3mEfid ax & #RoT fAegd &t

# ohE w9 & fedar s ¥

Options :

1.v 1/

2. % 2

3. % ¢

4. % 2

Question id : 5930  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

A rectangular loop of sides 15cm and 10cm, carrying a current of 1A 15 placed with its longer side

parallel to long straight wire carrying a current of 2A placed at distance of 2cm. The net force
experienced by the loop is :

Options :

1. ¢ 25 x 107 N towards the longer side.
2.% 25x 107N away from the longer side.
3. % 30x%107 N towards the longer side

4. % 30%107 N away from the longer side

Question id : 5930  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
15cm 3R 10cm & ST arer T 3 o9 @l 9t 1A & facgd waw & ane

a«—(w%a{qﬁmﬁsj’ma’meﬁﬁm S 2A & fdegd udie &1 dgd &%
T 8, & AR 2cm T gl W [T S §] O GaRT feEia fhar Siel aren A o
IEGGIRS

Options :

1. ¥ 25x 107 N ofelY 8T 1 31

2. % 25 x 107 N e A g

3.% 30107 N &l oo #r 3R

4.% 30x107 N el oo A

Question id : 5931  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)

A solid sphere & a hollow sphere of radius R are rolling down an inclined plane of height h. The
ratio of velocities of Solid sphere to Hollow sphere on reaching the bottom 1

Options :
1L# 21
25
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2.9 |25
21
3.8 B
5

4.%‘]5
3

Question id : 5931 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e R & e 219 e 3R @rael 3l & h 391 arel 3 §U ao § e S §

, #del WX UgE W3 HR @i@er A & a7 & T A Iepurd g

Options :
L% 21
25
2.¢ |25
21
3.% 3
5
4.% 5
3

Question id : 5932  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A corona around the moon 15 seen when we view it on a fogy or musty night. This 1s due to:

Options :

1.+ Diffraction patterns of air born water droplets
2. # Dispersion of light by air born water droplets
3. % Scattering of light by air born water droplets.

4. # Formation of diffused image of moéon.

Question id : 5932  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
Sid §A TS iHC AT Ul Ud A USHT B 4@ § ol SHS IR IR UH GHIASS ST Al 61 SHR HROT b

Options :

1. arg ST 9Tl FF ST oI gal & @ada et

2. % A AfAd dedt T SIET ST daT GanT T3 & HehroTT

3. % Gy SAfd Orelr @ SIEr SiE et canT WET & fBoRd

4. % agam &1 fawRa ofd & s

Question id : 5933  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

In cold season when lakes freeze. only the top water freezes. Below this laver the water does not
freeze and the aquatic life survives. This happens because of :

Options :

1. # Poor thermal conductrvity of ice

2.+ The density of water i1s maximum at 4°C

3. % Heat convection does not take place m water.

4. % Low latent heat of fusion of water

Question id : 5933  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
aféat & whaw & o9 shieh o7 oy &, o oo W # U SHGr &1 59 9)a & s

T T FET SHAT 3R S Siae @9 Ear &1 VT Satv giar § it

Options :
1. % g $r ard aresar gaeg 5 dr &
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2. ¢ Ol & Heied 4°c WX HEEaH giaT &
3. % 9redt # FSAT &l Haga o6l olall
4. % Ol & Herds HY AT FOAT &H g ¢

Question id : 5934  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The occupancy probability P(E) according to Fermi-Dirac statistics 1s
P(E) = 1/(e(E-EF)/KT +1)
a quantum state whose energy is 0.01 eV above the Fermi energy is about
. assume a sample temperature of 800K:

Options :
1. ¥ 50%
2. % 60%
3. % 0%
4. v 80%

Question id : 5934  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
wH-E 3Mast & R, e Sl P(E) = 1/(e(E-Ep)/AT +1) v Fames

sy ¢ e Fell e 0.01 eV BHf 3ol & FW OB, AR S0 R va S
amTAT 800K §:

Options :

1. % 50%

2. % 60%

3.% 70%

4. ¢ 80%

Question id : 5935  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Two masses m] and m are connected by a massless spring of spring constant k.
The system 1s free to oscillate along the length of spring. The system oscillates
with a frequency:

R

V)BT VIO
™, m 2-
Options :

&
2

1.¢ % where p = ((mim2)/(m1+ m))

2. # J% where p = ((mimo2)/(m1+m2))
3. % \E where u = ((m1m2)/(m1+m2))
4. % ij% where p=((mm:)/(m;+m;))

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5935  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
a7 GegATT My 3T M2 U ceaAEREa e S e e kg,

573 81 o &1 dars & Ay 75 gomel gee e F fow waad gl
JUITell fohdell 3Mdfcd @ AT arelel aidr o

R
o> VIV IIET IO
™M MZ_

Options :
L ziﬁ ST L = ((mama)(me+ m)
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o J% ST W = ((mimz)/(me+mz))
3.% ﬁ: G U = ((mim2)/(m1+mz))

1 u.
4. % E-J% BT P=((mamz)/(m1+mz))
Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5936  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The Plank’s distribution function is given by:

Options :

1. ¥ 1(explhw/T) +1)

2. % 1/(explhw/T) — 1)

3. % 1(expl-hw /) +1)

4. % 1f(exp(-hw/7) -1)

Question id : 5936  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ol &1 TAEROT Werd fhdeh gaRT egad fRaT ST &

Options :
1. ¥ 1/(exp(hew/t) +1)

2. % 1 [{exp(Mw/T) — 1)
3. % 1(exp(-hw/T) +1)
4. % 1(exp(-hw /1) - 1)

Question id : 5937  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
At very low temperatures. the heat capacity Cy; of a solid 15

Options :

1. ¢ (120%/5)Nks(T/8)°
2. % (12a*Nkp(T/)°
3. % (12xY)Nks (;)3

4. % (122%/5)Nks (%)3

Question id : 5937  Question Type : MCQ... (Correct+1.0 , Wrong - 0.0)
@wmw,wm#mmcvsﬂﬁﬁ%ﬁaﬁrﬁz

Options :

1. (12n*15) Nks( 78)°
2. % (120 Nkz(T/8)?
3% (1211“)Nk5(§)3
4 % (12114;5)Nk5(§)3

Question id : 5938 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The London penetration depth 1s given by:

Options :

1. (mcl--lfmql)l 2
2. % (mc?imngH)l?
3. % (mcXidng)l2
4. % (4rme’/dng?)l?

Question id : 5938 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fee YAt 39 A4 ¥ fohde ganT afvtd & ST 8t

Options :
1. (mcZidnng?) 12

. {mCZthq2)1a'2
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3. % {mCZMHqE}’l:’Q

4. % (dmmciang?)12

Question id : 5939  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The Clausius and Mossotti equation 15 given by:

Options :
1. % g = (not/3€0)

e—1 i
o (noa/3ea)

2.4

3. % f = (n0a/3€0)
4. % % = (nq0/3€5)

Question id : 5939  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FAITaE 3T AAET FAGT S0 § TFEF ganr aoid fham ST &

Options :
e+1

® =2
L. e—1

= (No/3e0)

e—1
42
e+2
1
e+l

n ==
4. e—2

2.4

(Moa/3e0)

3. %

(ngel3es)

(Moa/3e0)

Question id : 5940  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The work done in deforming a body is given by
Options :
1. % StressXStrain
b [ S
2. ¢ = (Stress X Srain)
3. ¥ Stress/Strain
4. % Strain/Stress

Question id : 5940  Question Type : MCQ _ (Correct + 1.0, Wrong - 0.0)
fis & fawuor & fram o 5o o o g@ny a5 St 6

Options :

1% T x ¥
2.9 1/2 (F¢H xEgeT)
3. % T /we
4. % T [ TH

Question id : 5941  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
A liquid drop acquires spherical shape due to:

Options :

1. ®% Gravity

2. ¥ Surface tension
3. % Viscosity

4. % Intermolecular interaction

Question id : 5941  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A W R FROT ¥ &8 $1 U& Jg AR AHS a7 HEr i

Options :

1. % [EcATRIOT

2. TSE T

3. % =;AAT

4. % A U 3ol foRar

Question id : 5942  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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In an orbital motion. the angular momentum vector is:

Options :

1. ¥ along the radius vector

2. % parallel to the linear momentum
3. % 1n the orbital plane

4.« perpendicular to the orbital plane

Question id : 5942  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Uk FHEl Afd &, Hof a9 afgen

Options :

1. ® Trear wfeer & @rer gar &
2. % EF T & WHCER grar &
3. % el TEeT # giar &

4. ¥ FElE THET & oFaded §iaT &

Question id : 5943  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The Clausius- Clapyron’s equation of latent heat 15 given by:

Options :

1. [ 4 E:—L
dr  T(V2-V1)
dP L
2 8 —=—
: dT  T(V1-V2)
3 % 9P _ L(VZ4V1)
. dT v2-vi
4% dpP _ LV2-V1)
) dr VZ+Vl

Question id : 5943  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FONTAH-FTIA I I FOAT I FHIGIOT sk GaRT afvld faar Sirar &

Options :

dP _ L
LY ar -~ T(vz-vD)
2. ® E = 4

dT  T(V1-V2)

3 % 9P _ LO24VI)

dT v2-vi
4 % 9B o LOZZVD
© o dr V24V

Question id : 5944  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The working principle of pressure gauges for measuring static pressure of a fluid flowing in a pipe is
based on

Options :

1. % Poiseuille’s law

2. ¥ Bemoulli’s theorem
3. % Stokes’s law

4. ¥ Hooke's law

Question id : 5944  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
UF UET H 9% @ ad & Oifad cag AU & T A a9 & FE-Eay oW

ey grar &
Options :

1. % disHge & fHas
2. gt o wAg
3. % TEraw & TaH
4. % @Tfarﬁﬁm

Question id : 5945 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A double slit experiment is performed with light of wavelength 500 nm. A thin film of thickness 2
wm and refractive index 1.3, 15 mtroduced in the path of the upper beam. The location of the central
maxunuwm will:

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2F defaul. ...
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Options :

1. # Remain unshifted

2. % Shift downwards by nearly two fringes
3.+ Shift upwards by nearly two fringes

4. % Shift downwards by 10 fringes

Question id : 5945  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
500 nm TETee F YA F G Ueh Sael [eole WAET fREAr Sar §1 2 pm #@ers @

3R 1.5 dadas & vE gden fhen U0 BRULgS F Ow # @s A §1 ded
AfFgam Fr Tufg w2 gef

Options :

1. % Hﬂﬂiﬁﬁﬁ@ﬁmﬁ?ﬁ

2. % T @ el ek s STealT

3. oETETET @ Tihel o FOY SATET

4. % 10 i o «ra S

Question id : 5946 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In diffraction from a single slit. the angular width of the central maximum does not depend upon:

Options :

1. % Wavelength

2. % Width of the slit

3. ¥ Distance between the slit and the screen

4. % The ratio of wavelength and the slit width

Question id : 5946  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T e ¥ fAadd &, deo dfeaAa & wiofg =@isE sa8 @ e o e a8 &

Options :

1. % aRaeed

2. % TFore fr dlers

3. e 3K & & ff A1 gl

4. % FoERed 3R e & st & e

Subsection : 2, Question Shuffling Allowed : Yes

Question id : 5947 Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)

fiecis S 1 =1
In computation. the function f1s defined by f(x)=" m&; -x,J e _1
~CH., X =

where a, b, ¢ are constants. It 15 given that f{x) 1s differentiable at x = 1 and

SF(0)= f'(2) . Then the value of b is

Options :

1. ¥ 15

2. % 14

3.% 16

4. % 17
Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.
Question id : 5947  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
J+2x-1 x<=1

Jifwas #, Hoe f &l f(.r):{m ;
| b—ax, x>=1

Rt qfenfia G ST &, S a, b, ¢ FORME &1 A R &
x =13 O =f (2N f(x) 3dha=g §| dl b & A T §

Options :
1.¥ 15

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servietContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  11/42
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2. % 14
3.% 16
4. % 17

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5948 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The minimum value of function X exists when x =

Options :
1. ¢!
2.% E

i
3.8 o€

4. % ¢

Question id : 5948 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
ol X BT FGAH A @l el § o x =

Options :
1.¢ gt
2.% E
3.8 o e
4. % &

Question id : 5949  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

_5%_3}:3»: is

The solution of the differential equation

¥
22
Options :

1 Ix

1. v y=ae‘—beg"+;e’

~x ~1x 1 ix
2. % y=ae™ +be o
3. % y=ae +be™ +

" 1.5
4. % y=aqge” +bel"+Ee”‘

Question id : 5949  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

fastes geiETor ;{—5%—1}':5” T 6 1 4 I &
Options :
_x ~2x 1 3x
2. % y=ae +be —;"'J
1 Ix

3.8 y=ge*+be™ +=¢&
|

L TR
e —X =X X
4. % y=qe*+be* +-¢

Question id : 5950  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

~7

[

B ey :
— =sin(xy)is
a

The solution of the partial differential equation
Options :

1. z=—x"sin(xy)+)yf (x)+g(x)

2. % z=—x"sin(xy)—xf(x)+g(x)

3. % z=—y sin(x)+ 3 (x)+g(x)

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2F defaul. ...
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4. % z =5 sin(xy)+ yf (x)+g(x)

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5950  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
3iTeIeh fasies FHAoT

© 2 =sin(xy) & For 5o @ @ Y
o’

Options :

1. ¥ z=—"sin(xy) + yf (x) + g(x)

2. % z=—x"sin(xy)—xf (x)+g(x)

3. % z=—ysin(x)+)f (x) +g(»)

4. % z=x"sin(xy)+yf(x)+g(x)
Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5951  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)

Solution of p\/.; +q\/._‘ = -JE 1s

Options :

L% Jxey=f(Vr—k)

2% x—{fy=f(¥x—z)

3% x=fy=f(Vx+z)

4.8 Jx+Jy=f(Vx+4z)

Question id : 5951  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
px+qfy =@ 5o e @ T
Options :

L# ey =f(¥x—f)

2.0 =5 = f(JF )

3. % x—fy=f(r+z)

4. % x+yfy=f(x+7)

Question id : 5952  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
4. 5 :

The seties — —— +— —— +——— == is

[ 5]
[¥¥]

Options :
1. % absolutely convergent

2. # Divergent
3. % Oscillatory

4. conditionally convergent

Question id : 5952  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
5

) £

R ¢
LR

Options :

1. # q’ﬁ”&ﬂ': WTEAT

2. % IqERT

3. % greter (HifEeen)
4. gufdes wfEan

Question id : 5953  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Let £ (x)=x"vx<[0,1]and for all positive integers n. then

Options :

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servietContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2Fdefaul...  13/42
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1% <fﬂ) does not converge at any point
2. (,fn) converges at every point but does not converge uniformly.
{fa
2

®

converges at some points but does not converges at some other points

3

: )
4.% (f,)

converges uniformly

Question id : 5953  Question Type : MCQ (Correc_t +1.0, Wrong - 0.0)
g f,(x)=x"vx[0.1]§ 3R s g@ers qoie & fow n, ar

Options :

1% (f,) Tl off g uv srferafa wigh gran

2.\‘/<f“) vl fag o AfEERA §1aT € Thd teEAE &9 9 fEERa A

- (f,) o Rg w #fAERa giar & g Fo 3w fagai w aEwRa
gl giar

4.% (f,) whaAe ®7 F sfEaid gar §

Question id : 5954  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The number of elements of order 3 in the group Z,. P Z.is

Options :
1.% 5

2. % 10
3.9 24
4. % 12

Question id : 5954  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Z,®Z8Hg A ®A 5 & agdl & ACdl SA8 I F+b1 ¢

Options :
I.% 5
2.% 10
3.¢ 24
4. % 12

Question id : 5955 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Let F,. Fgand F ;s be finite fields of 4. 8 and 16 elements respectively then

Options :

1. ¥ F;is 1somorphic to a subfield of
2. % F,is 1somorphic to a subfield of Fg
3. % Fgis 1somorphic to a subfield of F 4

4. % Fjgi1s 1somorphic to a subfield of F g

Question id : 5955  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
A= i & £y, Fg 3R £ oRTAT a7 & 3R 35F 3agg #Ae 4, 8 AR 16 §

Options :
1. F; 39&T & £y qod@nl &

2. % Fg 3UaTH #T Fy qoaeRl &
3. % Fyg 38T & Fg qedaRI &
4. % Fug IT&TT T Fig GLEIER e %—
Question id : 5956 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The system of equations kx + vy +z=I;x +hkv+z=kandx +y + k=K
does not have a solution, if & 1s equal to
Options :
1. % 1
2.% 0
https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servietContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  14/42



3/28/2016 iAKC - Question Paper Preview

3.% -1
4.9 2

Question id : 5956 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
GEET U kx + vtz =i x+hky +z=kFR x +y + kz = K5 T IS g
& &, GaT B & S ¥ Reud aXieT ¥

Options :

1% 1

2.%0

3.% 1

4.9 -2

Question id : 5957 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

x+4A  x x
The value of x for which the matrix A=| X X+ A X | 1s singular 1s
b x x+4

Options :

1. % x=3%

2.¢ x=-(L3)
3.% x=-(})
4. % x=0

Question id : 5957 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

[x+4 «x 3 i

X F A F § oS FRoT Afgerw A=| x x+4  x |fawEwr §
i_ x x x—/'._|

Options :

1. ¥ x =-32

2. x = -( W3

3.% x =~ A)

4.% x =0

Question id : 5958 Question Type : MCQ | (Correct + 1.0, Wrong - 0.0)

01 -3 -

Therankofthemarrix:l G _1 :is
3 1 G0E 2]
111 2 o]

Options :

1. % 4

2. % 3

3.¢¥ 2

4. % 1

Question id : 5958 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

|01 3 -1]
6 e B P ! :
A | ECORCOEC e RIS
I3 ki 2
e B
Options :
1. % 4
2.% 3
3.4 2
4. % 1

Question id : 5959  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A rigid body moving freely in space has degrees of freedom

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servietContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2Fdefaul...  15/42
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Options :
1. % 3
2.4 6
3.% 9
4. % 4

Question id : 5959  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

HalaT & Taoad §9 § AaH Th Fon U5 & Tagaar & #fe sa8 § F=4r §
Options :

1.% 3

2.¥ 6

3.% 9

4. % 4

Question id : 5960 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The product of generalized coordinates and its conjugate momentum has the dimension of
Options :
1. # force
2. # Energy
3. % linear momentum

4.+ angular momentum

Question id : 5960 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
e ST F ORI SHE TIIH T F1 IAH a4 O 4T 6

Options :
1. % ool
2. % Fan
3. % e wa
4. ol waeT

Question id : 5961 Question Type : MCQ (Correct+1.0 , Wrong = 0.0)
LetX =3 2-1),Y=(2,4,1), Z=(4, 0,-3) and W = (10, 4,-3) be vector in Ra
real vector space. Which one of the following is correct?

Options :

1.% 2X+Z=W,Y+Z=TW
2. IX-Y=Z Y+2Z=W
3.8 X+Z=W,2X+Y=Z
4. % 2Z+TV=W,X-Y=Z

Question id : 5961 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
gig v arcdias @ieer feaead W & X = (3 2-71), Y=(2 4, 1)

Z = (4, 0-3) X W = (10, 4,-5) afeyr §1 o Tafeiag 7 § &
T e 87

Options :

L% 2X+Z=W. Y+Z=W

2 2X-Y=Z Y422 =W

3.8 X+ Z=W 2X+Y=Z

4.% 272+ Y =W, X-Y =Z

Question id : 5962 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If T 15 an idempotent linear operator then T 15 diagonalisable and only eigen values of T are

Options :
1.¥ Oand 1
2. % land?2

3.% land-1

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servietContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2Fdefaul...  16/42
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4. % Oand-1

Question id : 5962 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
gfe T v aoar T8 TFRaE & of T Twoa a9 § 3R T & veAm ot

(HTS3TT) AT S8 § &1 g
Options :

1.¥ 0 3

2.% 1 3k 2

3.% 1 3R -1

4.% 0 3R -1

Question id : 5963  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

The Gauss Seidal method gives results faster when the pivotal elements are

Options :
1. # smaller than other coefficients
2.« larger than other coefficients

3. % equal to other coefficients

4. % No relation with coefficients

Question id : 5963  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
M Grsser @t caftg 9aitond 2t § o9 Hoiae daaa

Options :
1. % 375 TUIET H JoAe H BIE T b
2.V 3w IOTRT BT olel A @S E ©
3. % 3w AT & @ G &

4. % 3eg IR F WA FS G AGT §

Question id : 5964 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Gauss forward interpolation formula mvolves

Options :

1. ¥ Even differences above the central line and odd differences owthe central line
2. % Even differences below the central line and odd differences on the central line
3. ¥ odd differences below the central line and even differences on the central line

4. % odd differences above the central line and even differences on the central line

Question id : 5964  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
I FRES Hadeled Side 3 Saa ¥ FaT e ¢

Options :

1% 5/ W@ & 3N 96 fieaae 3R & @ W fous feaan
2. % A W@ & oA wA Feaae d3R sAr Y@ W faen Hedan
3.¢ FEm W@ & A s fEiedam R R @ W R feade
4. % FHE W@ & I AR fFean Ak & @ W 9A Hraan
Question id : 5965 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given data. the maximum value of v 15 grven as

x -1 1 2 3
v 221 15 12 3

Options :
1. v Atx=11743. y,,.=15.171612

2. % Atx=0.1743, yp=15.171612
3. % Atx=-11743.yu,,=15.171612
4. % Atx=21743, yp,,=15.171612

Question id : 5965 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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drr fow aw 2er A, y @1 fEEgA A Thger @ amar #

X -1 1 2 3
y -21 15 12 3

Options :
1.¥ X = 11743, Yyax=19.171612 @Y

2. % x = 0.1743, ymay=15.171612 &
3. % X = 11743, ypay=15.171612 o
4% X = 21743, Ymay=15.171612 &

Question id : 5966 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

. COS=Z
Residue of

atz=01s

Options :
1.¥ 1
2.% 1
3.% 2

4.% 0

Question id : 5966  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
z = 0 W <2 & safise fhaer &

Options :
1.¥ 1

2. % -1
3.% 2
4.% 0

Question id : 5967 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If z=a is an isolated singularity of f and f{(z) Zﬂ" (z—a)" 1s its Laurent
expansion in ann(a,;(,R), then z=a 1s a removable singularity 1f

Options :

1.¥ a,=0.n=-1

2.% g,#0.n<-1

3.% g, =0.nz=-1

4. % g #0,n=2-1

Question id : 5967  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
A difee & z=a, £ $ qas fawawoEr ¢ 3R ann@0.R) # saa
dile favar f(2)=Y a,(z—a)" &, @ z=a geIv ST I faearorar g,
afe

Options :

1.¥ a,=0.n=-1

2.% g, #0ns-1

3.% g, =0.nz-1

4. % a,#0.nz=-1

Question id : 5968 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In dual simplex method leaving variable position is positive after the iteration. then in next iteration
or in some later iterations the varable occupying the place of this variable in the table

Options :
1. ¥ can become negative

2. % cannot become negative

3. % will always become negative

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servietContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2Fdefaul...  18/42
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4. ¥ Will always equals to zero

Question id : 5968 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
sgre farcdew fafr # 3Rt govefea & arg o 78 W oY & Rl aaes § @

HOTMAT Geigic AT &g 1 fahell gerigicd # aTforRl # Tl WITe =Y 0

Options :

1. FOTeHA® g1 Tl §

2. % TONCHS 78T & Hhal &
3. % FHAT FOUNcHS GEIT

4, % FHAT YT & T GET

Question id : 5969  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Two vertices of the feasible region P of an LPP are xy=(0. 1. 1. 2) and

%3 =(3.0.0.1). Then. a pomnt wlich cannot be a vertex of P 15
Options :

1. ¥ (1.2/3,2/3.5/3)

2. % (6.-1.-1.0)

3. % (1/2.5/6.5/6, 11/6)

4. (1.2/3,2/3.5/3). (6.-1.-1.0). (1/2. 5/6. 5/6. 11/6)

Question id : 5969  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
wF LPP & waae a7 P & ar RRifag x4= (0, 1, 1, 2) 3R xp =(3,0,0,1) &I df a8

fag et @1 & < P a&r o w1t g1 waparr &

Options :

1. % (1,23, 213, 5/3)

2. % (6,-1,-1,0)

3. % (1/2, 5/6, 5/6, 11/6)

4. ¢ (1,213, 213, 5/3), (6.-1,-1,0), (1/2, 5/6, 5/6, 11/6)

Question id : 5970  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The necessary and sufficient condition for @ set B.to bea subset of Avis that

Options :

1.v¥ AuB=A4
2.% (A-B)~B=¢
3. % (AnB)uB=¢
4. % AUB=RB

Question id : 5970  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

A T 3T B & fAT ¥ B g9 3féa 3R 90T 9@ 594 § 6
Options :

1.¥ AUB=A

2. % (4—B)nB=¢

3. % (AnB)yuB=¢

4. % AUB=B

Question id : 5971  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The difference between the digit of a two-digit number 15 4. What 15 the digit in unit’s place? To
find out the answer. which of the information grven in the statement P and Q is/are sufficient.

P: The difference between the number and the number obtained by interchanging the positions
of the digit 15 36.

Q: The sum of the digits of the number 1s 12.
Options :

1. % only P is sufficient

2. only Q 1is sufficient

3. % Both P and Q are sufficient

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servletContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server %2F defaul. ...
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4. # Either P or Q 15 sufficient

Question id : 5971  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
&1 3 aTell Teh TEAT & Bl &h & JaW 4 B SHS & TAT W Bl T 3 g7

el U & AT, duet P 3R Q & & 715 &l O gaar odied

P. o 3R e & Rufg o s3ow F soe § W F TS = F HaK 36§
Q:  T&T % It @1 I 12 §

Options :

1. % Fger P gaed &

2. Fawr Q TATd ¥

3.% P 3R Q g= T §

4.% 77 G P 9Aed § a1 Q AT §

Question id : 5972 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The line [x+nty+n =0 is a normal to the ellipse ik —;— 1if

2

a b
Options :
L% a b (@-br)
) r oo n
) % _a_l_b_z_ (a*—5)’ -0
P’ m "

a o b (@ —:'f ¥

7 B

m n

0

Question id : 5972  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

=

adaea X+ -1 F Rw 3w k+my+n=0 9T §, I
=

o b.
Options :
x L e B
’ P nf n
(73 bz a.’. ZZ 2
yx OB @B
" m n
o £ B _@FY
o "
4% 2 b_, pl _1b_)_ =0
SR n

Question id : 5973  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The general equation of second degree ax” +2hy+by” +2gx+2fi+e=0

represents a hyperbola if

Options :
1.% K <ab

2.% B —ab
3. % ) m
4.9 B =ab

Question id : 5973  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
gladra &ife &1 GAT FHET axc + 2y +by” +2gx+ 2 fy+c =0Tk

JfRaera &t gatar §, afg

Options :
1. % W <ab
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2. % W =ab

3. # h: Z:>J£

4. I >ab

Question id : 5974  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The value of T je’l'qah' 1s equal to

Options :
1. % (e-1)

2. 2fe-1)
3% 3fe-1)

4. % 2fl-e)

Question id : 5974  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
1
I=[ddx @1 mer 5ot & frad awer @

-1

Options :

1. % (e-7)
2. Zle-1)
3. % 3e-7)
4. % 2(1-e)

Question id : 5975 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The value of |

Options :

L 2x—ax¥ +log|d* +1+¢
o % 2J}+4Log|.1m —1|+C

3 % EJ;—Log|.1J’H+1|+C

4. % 2fx + 44 +log|x¥* +1)+¢

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.

Question id : 5975  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
geAdrde e $T S9Ig 9T T HIUIn?

jL
Vx(1+4x)

Options :
1.¢ 25—41“ +1«og|3c'1'r4 +1|+c

=i

2. % 21./;+—110g|.1m —1|+c
3. % Eﬁ—log|.1”4+l|+r

4. % x4t —log|J«J"r+ +1| +c

Due to typographical error in option, no option is correct. Hence full marks awarded to this question to all candidates.
Question id : 5976  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

The value of definite integral IG sin’® fcos 6d6 is equal to
0

Options :
37
1.8 —
32
3x
32

2.9 _
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#
> 32

x
+ 32

Question id : 5976  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
x

fYad A J'asin%:?cosedf? &1 AT Sod ¥ fhads e §
i}

Options :
3z
32
3T
32

1. &

2¥ -

3. %

English Language
Section type : Online, Number of Questions to be attempted:20, Mandatory or Optional: Mandatory, Section Marks: 20.0
Subsection : 3, Question Shuffling Allowed : Yes
Question id : 5977  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
From the given options. choose the word similar in meaning to the word m capital letters
TRANSITORY
Options :
1. % Unstable
2. % Ilusory
3. ¥ Short — lived
4. % TUnreal
Question id : 5977  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the weordsimilar in meaning to the word i capital letters
TRANSITORY
Options :
1. % Unstable
2. % Ilusory
3. ¥ Short — lived
4. % TUnreal
Question id : 5978 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the weord similar in meaning to the word in capital letters
BELITTLE
Options :
1. # Demolish
2. ¥ Demean
3. % Disapprove

4. % Blame

Question id : 5978 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word similar in meaning to the word in capital letters

BELITTLE
Options :

1. # Demolish
2. ¥ Demean

3. % Disapprove
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4. % Blame

Question id : 5979  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.

FLEXIBLE
Options :

1. ® Rough
2. % Rigd
3. % Blunt
4. % Reliable

Question id : 5979  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.

FLEXIBLE
Options :

1. % Rough
2. % Rigid
3. % Blunt
4. % Reliable

Question id : 5980 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.

SECULAR

Options :

1. ® Righteous

2.+ Religious

3. ¥ Moral

4. % Spiritual

Question id : 5980 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
From the given options. choose the word opposite in meaning to the word in capital letters.
SECULAR

Options :

1. ® Raghteous

2.+ Religious

3. % Moral

4, % Spiritual

Question id : 5981 Question Type : MCQ (Correct+ 1.0, Wrong - 0.0)

In the question given below, out of the four alternatives. choose the ene which can be substituted for
the given words/sentence.

The custom of having more than one wife at the same time
Options :

1. ¥ Monogamy

2. % Matrimony

3. ® Bigamy

4.+ Polygamy

Question id : 5981 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the question given below, out of the four alternatives. choose the one which can be substituted for
the given words/sentence.

The custom of having more than one wife at the same time
Options :

1. ¥ Monogamy

2. % Matrunony

3. % Bigamy

4.« Polygamy
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Question id : 5982  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We can look the word in the dictionary

Options :

1. % For

2.¢ Up

3.% On

4. % Over

Question id : 5982  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We can look the word in the dictionary

Options :

1. ® For

2.% Up

3.% On

4. % Over

Question id : 5983  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

We should not compromise safety standards

Options :

1.v On

2. % With

3. % Over

4. % Above

Question id : 5983  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Fill in the blanks in the following sentences by ehoosing the right world-out of the options given at
the end of each sentence.

We should not compromise safety standards

Options :

1.v On

2. % With

3. % Over

4. % Above

Question id : 5984 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill 1n the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

Do vou think you can handle situation?

Options :

1.% a

2. ¥ the

3. % an

4. % article

Question id : 5984  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

Do vou think you can handle sttuation?

Options :
1.% a

2. ¥ The

https://rti5.digialm.com/touchstone/TKC_View_Question_Paper_Simulate.jsp?servietContextPath=%2Fjboss%2D4%2E2%2E3%2EGA%2F server%2Fdefaul...  24/42



3/28/2016 iAKC - Question Paper Preview
3 % an

4. % article

Question id : 5985 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of
the options given at the end of each sentence.

He was fond of playing tennis it was his father’s favorite game

Options :

1. % Since

2. % and

3. ¥ because

4. % until

Question id : 5985  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at
the end of each sentence.

He was fond of plaving tennis it was lus father's favorite game

Options :

1. % Since
2. % and

3. ¥ because

4. % quntil

Question id : 5986  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Fill in the blanks 1n the following sentences by choosing the right world out of
the options given at the end of each sentence
The passengers wear their seatbelts at all the times

Options :
1. % may

2. % Could
3. % might
4. % must

Question id : 5986  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
Fill in the blanks in the following sentences by choosing the right world out of the options given at

the end of each sentence

The passengers wear their seatbelts at all the tunes

Options :
1. ¥ may

2. % Could
3. % might
4.+ must

Question id : 5987  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence
which has the error.

No sooner did the mother reach home when the child started crying

Options :
1. # No sooner did

2. % the mother reach home

3.« when the child started crving

4. % No error

Question id : 5987 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence which has the error.

No sooner did the mother reach home when the child started crving

Options :
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1. ¥ No sooner did
2. % the mother reach home
3.« when the child started crving

4. % No error

Question id : 5988 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence
which has the error.

He will face serious problems if he will not change his attitude.
Options :

1. % He will face serious problems

2. ¢ if he will not

3. % Change his attitude.

4. % No error

Question id : 5988 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentences there may an error. Choose the part of the sentence which has the error.

He will face serious problems if he will not change his attitude.

Options :

1. ® He will face serious problems
2. if he will not

3. % Change his attitude.

4. % No error

Question id : 5989  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

I think that between Ram and Suresh Ram 1s the most intelligent

Options :

1. # I think that
2. % between Ram and Suresh

3. % Ram 1s the most intelligent

4. % No error

Question id : 5989  Question Type : MCQ  (Correct +1.0°, Wrong - 0.0)

In the following sentence there may an error. Choose the part of the sentence which has the error.
I think that between Ram and Suresh Ram is the most intelligent

Options :
1. ¥ I think that
2. % between Ram and Suresh

3. % Ram 1s the most mtelligent

4. % No error

Question id : 5990  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

They can promise you an experience you won't ever target

Options :

1. ® They can promise you
2. % an experience

3. % youwon't ever target

4. ¥ No error

Question id : 5990  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence which has the error.

They can promise you an experience you won't ever target
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Options :
1. # They can promise you

2. % an experience
3. % vouwon't ever target

4. ¢ No error

Question id : 5991  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
In the following sentence there may an error. Choose the part of the sentence
which has the error.

The dress that the gir]l wore was more attractive than the other girls

Options :
1. % The dress that the girl wore

2. ® was more attractive

3. " than the other girls

4. % No error

Question id : 5991  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In the following sentence there may an error. Choose the part of the sentence which has the error.

The dress that the girl wore was meore attractive than the other girls

Options :
1. ® The dress that the girl wore

2. % wwas more attractive
3.« than the other girls

4. % No error

Question id : 5992  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose which of the following 1s spelt correct

Options :

1. % Malaese
2. % Melaize
3. % Melaise
4. ¥ Malaise

Question id : 5992  Question Type : MCQ+» (Correct+1.0 , Wrong= 0.0)
Choose which of the following 1s spelt correct

Options :

1. % Malaese
2. % Melaize
3. % Melaise
4. ¥ Malaise

Question id : 5993  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose which of the following 1s spelt correct

Options :

1. % Grevance

2. % Greviance

3. ¥ Grievance

4. % Grievence

Question id : 5993  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Choose which of the following 1s spelt correct
Options :

1. ¥ Grevance

2. % Greviance

3. ¥ Grievance

4. % Grievence
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Question id : 5994  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Ultra Vires 1s a term used for

Options :

1. # A document corrupted virus

2. An act beyond the authority of law
3. % An act authonized by law

4. % Anillegal act

Question id : 5994  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Ultra Vires 1s a term used for

Options :

1. % A document corrupted virus

2.+ An act beyond the authority of law
3. % An act authorized by law

4. % Anillegal act

Question id : 5995  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Viv-a-vis means:

Options :

1. ® Direct

2. % Opposite

3. ¥ Face to face

4. % Apgree

Question id : 5995 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Viv-a-vis means:
Options :

1. % Direct

2. % Opposite
3. ¥ Face to face
4, % Apree

Question id : 5996 Question Type : MCQ - (Correct + 1.0, Wrong - 0.0)
“‘Gift of the gab™ means:

Options :

1. % Gift of hard work

2. % Gift underserved

3.« Gift of being a good conversationalist

4. % Gift from unknown person

Question id : 5996  Question Type : MCQ  (Correct + 1.0 , Wrong - 0.0)
“Guft of the gab’ means:

Options :

1. ¥ Gift of hard work

2. % Gift underserved

3.« Gift of being a good conversationalist

4. % Gift from unknown person

General Intelligence/Reasoning

Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory,

Subsection : 4, Question Shuffling Allowed : Yes

Question id : 5997 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Select the related words from the given alternatives.

Odometer : Mileage - Compass :
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Options :
1. # Speed

2. % Hiking
3. % Needle
4. ¢ Direction

Question id : 5997  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
&3 17 Taeedl H Hafad el & 9ad ay|

SR AT HEIE ¢
Options :
1% aify
2. % dger odt A (grsieden)
3.% g3

4. fEam

Question id : 5998 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the related words from the given alternatives.

Marathon : Race -: Hibernation :
Options :
1. % Winter
2. % Bear
3.« Sleep

4. % Dream

Question id : 5998 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
& 717 Tahedl H Halad =g &l = Bl

wFar el - 2T - geatae -

Options :

1. % @ef

2. # HIe]

3.v wolg

4. % Ta

Question id : 5999  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Select the related words from the given alternatives.

Vigilant : Alert :: viable :
Options :
1. % Beautiful
2. % Useful
3. % Siumple
4. v Feasible

Question id : 5999  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
& 717 Tahedl H Halad =g &l = Bl

SATITE - s - 3THETH -

Options :

1. W :HJTEQ

2. % Il

3. % grETHoT

4, TR

Question id : 6000 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Select the related words from the given alternatives.

Amnesia - Memory :: Paralysis :
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Options :
1. % Handicapped

2. ¢ Movement
3. % Legs
4. % Limbs

Question id : 6000 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
& v Tasedl & HaTad =gl & 999 1|

TereAToT: T - oiehar :

Options :

1. % Taamerar
2. arcirefrerar
3.8 g

4. % 37T

Question id : 6001 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
In the following question a letter series 1s given. i which some letters are missing. The missing
letters are given i the proper sequence as one of the alternatives. Choose the correct altemative
ba — ba —bac —acb - c abe
Options :
1. % aach
2. % bbea
3.4 ccba

4. % chac

Question id : 6001  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
frafafea wa 7 v aof &1 Bar = &, S 3o ot aaa 8 Bl o
fadhed & §9 A Fuicud au1 3 #A A BT 710 §1 F6I dehod &1 =ahe &
ba - ba—bac —acb - c abc

Options :

1. % aach

2. % bbea

3. ¥ ccha

4. % chae

Question id : 6002 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
In the following question a letter series is given. in which some letters are missing. The missing
letters are given m the proper sequence as one of the alternatives. Cheose the correet altermative

beca—b—aabc—a—caa
Options :

1. % acab

2. % bebb

3. % chab

4. % ccab

Correct option is 1 and hence changed answer to 1.

Question id : 6002 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Trafaf@d yea # v ot F Bar 72 &, SH FO vl sqeiud 81 W ow

fasheT &9 A oquicd ao1 3fa &3 A B a0 81 96 Feed @ 31T w1

bca—b—aabc—a—caa
Options :

1. % acab

2. % bebb

3. % chab

4. % ccab
Correct option is 1 and hence changed answer to 1.

Question id : 6003  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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If m a certain language MADRAS 15 coded a NBESBT. how 1s BOMBAY coded in that language?

Options :

1. ¥ CPNCBX
2. CPNCBZ
3. % CPOCBZ
4. % CQOCBZ

Question id : 6003  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
ofe fadT fafesa & & MADRAS &7 NBESBT #I5 feam &ar &, ar swr s &

BOMBAY &I &5 &1 g7
Options :

1. ¥ CPNCBX

2. ¥ CPNCBZ

3. % CPOCBZ

4. % CQOCBZ

Question id : 6004 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If SCIENCE i1s coded as UFJTIM. then GENE will be coded as:

Options :

1.+ HGQI
2. % THRJ
3. % IHRI
4. % THSJ

For the above question, User had specified 'full' during keys upload.

Question id : 6004 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
7f& SCIENCE & @IS UFITIM & a7 GENE & @IS &7 gIan?

Options :

1.+ HGQI
2. % THRJ
3. % IHRI
4. % THSJ

For the above question, User had specified 'full" during keys upload.

Question id : 6005 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Which one of the following pairs 1s different from the rest three?
Options :

1. ® Twags : Nest

2. % Gold : Ornaments

3.« Picture : Pottery

4. ¥ Wood : furniture

Question id : 6005 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
S T Fia T SIS HeT die O 370 82

Options :

1. % oM@y : el

2. % Tgol : 3TuOT

3. ¢ ﬁ‘mﬁrfr:w
4. % oAl : Feil=d

Question id : 6006 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Which one of the following pairs 1s different from the rest three?

Options :

1.+ Tongue : Taste

2. % Eye:Blind
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3. % Ear: Deaf
4. # Leg:Lame

Question id : 6006 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT & 9 ol §7 15T Jea did I 3009 57

Options :

1. ¢ Sifer: wFarg

2. % 3fi@ : 3rem

3. % &l dET

4. % 4g MCEIE|

Question id : 6007 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Which one of the following pairs 1s different from the rest three?
Options :

1. # Mercury : Sun

2. % Moon : Earth

3. ¥ Wheel : Axle
4. Star : Galaxy

Question id : 6007 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TrtafEag & O Sl a1 SisT 307 did & 376 87

Options :

1. % g

2. % Fog gl

3. % fgam: gf

4. ¥ gRT. FTEIRERET

Question id : 6008 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Arrange the following words according to the English dictionary.
1. Republic 2. Remember 3 Report 4. Repeat 5. Repeal

Options :
1.¥ 2.5.4.
2.% 3.2,

3.% 5

—
[ Y
S

(3]

=

4. % 5.

—_

(%)
(5]

Question id : 6008 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
3T eI F HJAR SIFATolEd eear & eqaead Sl

1 Republic 2. Remember 3 Report 4. Repeat 5. Repeal
Options :

1. 2.5.4.
2.% 3.2,

3.% 3

.

: (=
IJ;‘ Lad
v

(5]
(B

=

4. % 5.

—_

Question id : 6009 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Sunil 15 heavier than Abhinav but not as heavy as Rajiv. Ablunav is heavier than Javesh. Kashi 1s
heavier than Sunil. But Sunil 1s not as heavy as Rajiv. Who 1s the heaviest?

Options :

1. ¥ Sunil

2. % Abhinav
3. % Rajiv
4. % Kashi

For the above question, User had specified 'full' during keys upload.
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Question id : 6009 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Totler, 31T39s1a & a0 & et Tolta Sdar w7 3f3ea, s & al) ¢ aeh, goie

F ol §1 Of e, Tola Sider s 78 . O s @ Haw ol @l 37

Options :

1. e
2. % AfFag
3.% &
4. % el

For the above question, User had specified 'full' during keys upload.

Question id : 6010 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A woman said to a man. The daughter of vour only sister 15 the sister of my husband. What is the
relation of the man’s sister to the woman?

Options :

1. % Mother

2. ¥ Mother — in — law

3. % Sister

4. ¥ Data mnadequate

Question id : 6010  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U T o U GFT A el HIGHT Teholld! dpel d1 9& AT Gfed & a5 81 3T geY

96T & G 39 O & gy a=r fear

Options :
1. % A

2.4 @™F
3. % dga

4. % Ao e

Question id : 6011 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

A man walks 1km towards East and then turns to South and walks 5 km. Again he turns to east and
walks 2 km. after then he tums to North and walks 9 km. How far 1s he now from his starting point?
Options :

1. % 3km

2. % 4km

3.v 5km

4. % Tkm

Question id : 6011 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T SEAT 9d &1 3R 1 A o § R gl @ 3R #sad 5 fRAL a9 818w

o & qd &7 3R A5 2 B FIo0aT &1 36 916 95 Sead fgur H 9 fhAL G 6,
39 dF 319 URfAE fog & fhast g W o7

Options :

1. % 3T
2. % 4 TR
3.9 5 T
4. % 7R

General Aptitude/Numerical Ability
Section type : Online, Number of Questions to be attempted:15, Mandatory or Optional: Mandatory, Section Marks: 15.0
Subsection : 5, Question Shuffling Allowed : Yes

Question id : 6012  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Find out the missing numbers in the following series:

12,15,14,17719
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Options :
1. % 18
2.¥ 16
3.% 13
4. % 15

Question id : 6012 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T Aoft 7 Fafea Te=r aar w3

12,15, 14172 19

Options :
1. % 18
2.v 16
3.% 13

4. % 15

Question id : 6013  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Arrange the following fractions in the descending order:
1 34

3677 %9

Options :
4

® =
1. =

N

®
W0 | |
e MI w |
ml|u u'-|l|r.1 -._1"|m
,_.;|,_. u;||- ..;|...

-
#®
| ea

4 3
"9 TETY

Question id : 6013  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
AT A A Tfafaa e st o caaffua &4

i 2 3 &

3°5°7°9
Options :

L% 2
=

1

73

n e

Wi W

3 1
® = =
2. = =

3. ¢

\Dlﬁ
~alw

1
3

W

4. %

W

=
7

W
| b

Question id : 6014 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
The maximum number of devotees among whom 340 oranges. 430 apples and 630 bananas can be
distributed in such a way that number of oranges. apples and bananas remains the same 1s

Options :
1.¥ 85
2.% 90
3. % 80
4. % 105

For the above question, User had specified 'full' during keys upload.

Question id : 6014 Question Type : MCQ  (Correct + 1.0, Wrong - 0.0) . oL . . .
§7erclt 1 31 TRrehaa TEaT T § ToiTa Ife 540 TR, 450 @aaﬁwmg—aaraam, AT IS HEFd & I G, TaT 3R el S T&IT AT 2

Options :
1. ¥ 85
2. % 90
3.% 80
4. % 105
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For the above question, User had specified 'full' during keys upload.

Question id : 6015  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Kiran had 85 currency notes in all some of which were of 100 denomunation and the remaining of 50
denomination. The total amount of all these currency notes was Rs. 5000. How much amount did she
have in the denomination of Rs.507

Options :

1. ¥ Rs.3500
2. % Rs. 4000
3. ¥ Rs.4200
4. % Rs.4500

Question id : 6015  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
oo & 9rE &l 85 e o, Fad § $% 100 394 & & R adr 50 &9 & 9 A

3 WX AT &1 Fel AFT 5000 T o, 1 30 TH 50 T & AT i fhaalr T
ofr?

Options :

1. ¥ 3500 ®99

2. % 4000 ®OI

3.% 4200 T

4. % 4500 ®OI

Question id : 6016 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The sides of triangle are in the ratio of% i %a.nd 1ts perimeter 1s 104 cm.

3
The length of the longest side 1s:
Options :
1. % 52cm
2.¢ 48 cm
3.% 32em

4. % 26cm

Question id : 6016 Question Type : MCQ (Correct+ 1.0, Wrong - 0.0)
- 1 1 1 4
U PR B AT S 2k D & seard @ & 3R sEer aiaTT 104 SR
ar Begsr f1 waw a9t e Y s fdel gRM?

Options :

1. % 5235,
2. 48 |.AT
3.% 33
4. % 269

Question id : 6017 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

In a school, 10% of the boys are the same in number as %ﬂ‘ of the girls. What is

the ratio of the boys to girls in that school?
Options :
1.% 3:
2.¢ 5
3.% 2

S
(%] [B]

—_

4.% 4

5]

Question id : 6017 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Tkl A AShI I TE&AT F 10%, mﬁmag a;aTm%,a’rmFﬁ-r

# ol 3R oEBT & FEd &1 AauE a4 §?
Options :
1.% 3.2

2.¢ 5:2
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3.8 21
4. % 4.3

Question id : 6018 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
If a sum of money at simple mterest doubles In 6 vears, it will become 4 times in:

Options :

1. ® 12 vears
2. % 14 vears
3. ® 16 vears

4, 18 years

Question id : 6018 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
IfE FUROT S W UF AR 6 A F N g1 S 8, o a5 R et de # AR

AT B SATTA?

Options :

1.% 129 #
2% 149 A
3.% 169 H
4. 189 &

Question id : 6019  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A library has an average of 510 visitors on Sundays and 240 on other days. The average number of
visitors per dav in a month of 30 days beginning with a Sunday 1s:

Options :
1. % 250
2.% 276
3.% 280
4. ¢ 285

Question id : 6019  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
T Teaded 7 daR & fGa AAmad: 510 30eds B & 3R 3 e 7 s
AT 240 gl &, A AR & o gishdiel 30 fEiidh U HElshd sl i

T ufates frger grefr?

Options :
1. % 250
2. % 276
3.% 280
4.+ 285

Question id : 6020  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)
Six wears ago, the ratio of the ages of kunal and Sagar was 6:3 four years hence, the ratio of their
ages will be 11:10 what 15 Sagar's age at present?

Options :

1. % 16 vears
2. % 18 years
3. % 20 vears

4, % 22 vyears

Question id : 6020  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T W 5ol FHOMS 3R HEN HT IH N GO 6:5 AT IS F AR G d1G AN IH

& 3 11:10 §lM| R HT 37 330 &= 2
Options :

1. ¢ 16 &l

2. % 18@rer

3. % 209rer

4. % 229l
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Question id : 6021 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

If there 1s a profit of 20% on the cost price. then the percentage of profit on the sale price 1s:
Options :

1.V 16 %

2. % 129
3 % 15%%
4.% 16%

Question id : 6021  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT T HET T 20% HT o8 THeAT §, ol Taehl Hed WX Fehcle Hicierd oy gran?

Options :
1.v 162 9%
2. % 129%

1
3.% 155%

4. % 16%

Question id : 6022 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Mr. Krishna purchased a flat for Rs. 9,25.000 and spent Rs. 35000 on its renovation. If he sold the
flat for Rs. 10.80.000, then the percentage of his profit 1s:

Options :
1. % 13%
2. % 175%
3. % 20%
4. ¥ 125%

Question id : 6022  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
AT, FIOW F 925000 T F Toh ol @eT AN 3HF AdSOT & 35000 T T &

few, afE 37E =9 weic &7 10.80.000 T H 97 Tmmgr, v 305 fraem ufgera amer
faer?

Options :

1. % 15%

2. % 17.5%

3.% 20%

4.9 12.5%

Question id : 6023 Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

If 6 men working 8 hours a day earn Rs 1680 per week. then 9 men werking 6 hours a dav wall earn
per week:

Options :

1. % Rs 1680

2. % Rs1920

3. % Rs2680

4. v Rs 1890

Question id : 6023  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afg 6 3medT 8 FEMfAfed 7 F& & Godare 1680 ¥4 FAI §, a7 9 fad 6 T/
ufafes & =g Y &Y oG fehctet FATTIN?

Options :

1. % 1680 ®3r
2. % 1920 w9
3.% 2680 T
4. 1890 TUI

Question id : 6024  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
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A pipe can fill a tank with water in 3 hours. Due to leakage in the bottom of the
tank 1t takes 3 % hours to fill it. In what time will the leakage empty the fully
filled tank?
Options :

1. ¥ 12 hours
2. % 15 hours
3. ¥ 18 hours
4. ¥ 21 hours

Question id : 6024 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
T GISY U & 3 ue A aRal ¢1 &6 f1 aeh F S @ & FRU1 A5 37 6
& 5T Ul §1 IF 8¢ W MW §U & F fhad AT A @il &

Options :

L. #% 129¢
2.% 158
3.% 1gHE¢
4. 2Nge

Question id : 6025 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A can travelling at a speed of 40 km'h can complete a journey in 9 hours. How long will it take to
travel the same distance at 60 km'h ?

Options :

1. ¥ 6 hours
2. % 5hours
3. % 4 hours

4. % 3 hours
Correct option is 1 and hence changed answer to 1.

Question id : 6025  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
A T AT F 40 AL EE FT AfT § 9 g A I a% Fahar b, o a6 60 faRFALEE @y

aIfT & 36T & gl &I fhda g & gl ax o

Options :

1.v ggc

2.8 59

3.% 49

4. % 39

Correct option is 1 and hence changed answer to 1.

Question id : 6026 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
A man completes E of a job 1n 10 days. At this rate how many more days will

he take to finish the job?
Options :

1.% 5

2.4 6

3.% 8

4. % 7

Question id : 6026 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
U cafdd T @ ¢ ST 10 R F G AT §1 90 X § a5 F F 9 T A

foraer fear il eremeem

Options :
1.% 5

2.¥ 6
3.% 8
4.% 7
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General Knowledge/Awareness
Section type : Online, Number of Questions to be attempted:10, Mandatory or Optional: Mandatory, Section Marks: 10.0
Subsection : 6, Question Shuffling Allowed : Yes

Question id : 6027 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

The words “Satyvameva Javate™ in the National Emblem are taken from:
Options :

1. # Ken upnishad

2.« Mundaka upnishad

3. % Isha upnishad

4. % Ganga upnishad

Question id : 6027 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
TSERT Udleh & g 'Tca8d Jad & forar = g

Options :

1. % et 3ufelug
2. #AsH 3UfAvC
3. % gem 3ufaug
4. % TN 3l

Question id : 6028 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Chinese traveller Hiven-Tsang studied at the university of

Options :

1. % Taxila

2. % Vikramshila
3. % Magadh

4. ¥ Nalanda

Question id : 6028 Question Type : MCQ (Correct + 1.0, Wrong -0.0)
=TeAT AT Fhd 9@ (Hiven-Tsang) @ Thd Taealacared # 3egds fodr am?

Options :
1. % Faferer

2. % fawaferer
3. % HIMET
4. v FATERT

Question id : 6029  Question Type : MCQ (Correct+ 1.0, Wrong - 0.0)
Which one of the following Silkh Gurus was beheaded by Aurangzeb?

Options :

1. % GuruRamdas
2.+ Guru Teg Bahadur
3. % Guru Arjun Dev

4. % Guru Gobimnd Singh

Question id : 6029  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
rfafaa & o sioee @ a9 & B 15 &1 W Fon 3 mr o

Options :

| % % HEE

2. % T FGIGT
3% I T T
4. % 1% A g

Question id : 6030 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
Bhikaji Cama was a :
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Options :
1. % Painter
2. % Poet
3.« Freedom fighter

4. % Scientist

Question id : 6030  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
HfrET=it F@AT T |

Options :

1. ¥ TR

2. % wfg

3. TadAdT dedter

4. % Fefa

Question id : 6031 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Name the Indian Cricket legend who was honoured with “Life Time Achievement Award™ in the
House of Lords in London on September 25, 2014

Options :

1.+ Kapil Dev

2. % Ravi Shastri

3. & Saurav Ganguly

4. % Sunil Gavaskar

Question id : 6031 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
39 ARART e & 71 9are fowr 25 et 2014 &7 @ea & 139 HH died 7
SIS cISH Igdc Hals ¥ TFHTead fohar arar am?

Options :

1. e 2g
2. % 0@ emeAr
3. % ®Ra ameren

4. % Feltel TMIEHT

Question id : 6032  Question Type : MEQ (Correct + 1.0, Wrong - 0.0)
With which game 15 the term "Advantage associated?

Options :

1. % Billiards

2. % Table Tennis

3. ¥ Lawn Tennis

4. ¥ Badminton

Question id : 6032  Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
forfeifad & & ‘vsares” Ueq | Wel 8 3T 7

Options :

1. * fafose

2. % oo Tl

3. @i efaa

4. % Ysfiea

Question id : 6033  Question Type : MCQ (Correct + 1.0, Wrong - 0.0)

Pt Ravi Shankar is a renowned :
Options :

1. ¥ Table player

2. Sitarist

3. # Violinists

4. % Sarangi player
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Question id : 6033  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
afgd W 9fes v uieg &l
Options :
1. % ad ol
2. ¥ THORacH
3. % grafcledies
4. % gRAET aew

Question id : 6034 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
"Arjun Award’ 15 given for:

Options :

1. # Bravery on the battlefield

2.+ Outstanding performance in sports
3. % Exceptional service in emergency

4. % Environmental studies

Question id : 6034 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
ISl IRERR feam s &

Options :

. ¥ @15 & Hce ® dRar & fov

2. el & dee & FEERY vede & o
3. % UIdeRlel & GHT HEERUT A4 & fow
4. % goigdor & 3ead & fow

Question id : 6035 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
The longest state(in terms of area) in India 1s:

Options :

1. ¥ Madhyva Pradesh
2. % Andhra Pradesh
3. # Maharashtra

4. " Rajasthan

Question id : 6035 Question Type : MCQ  (Correct + 1.0, Wrong - 0.0)
HRT & TR ST T (7B Te sl #) B

Options :

1. % Frer goRr

2. % 371y wewr

3. % HpRISg

4. & [T

Question id : 6036  Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)

Who propounded the Quantum Theory?
Options :

1. ¥ Albert Einstein

2. % Max plank

3. % Heisenberg

4. % Max well

Correct option is 2 and hence changed answer to 2.

Question id : 6036 Question Type : MCQ (Correct + 1.0 , Wrong - 0.0)
FaeH e o ufgoiea R are?

Options :

. ¥ 3oac HISTEA (Albert Einstein)
2. ¢ #aq ol (Max plank)

3. % gEoieTddr (Heisenberg)

4. % FFm I (Max well)

Correct option is 2 and hence changed answer to 2.
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